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Answers

1.

328⁄990

2.
48751⁄9900

3.
172850⁄99000

4.

2628⁄900

5.

4680⁄9900

6.
24326⁄99000

7.

2643⁄990

8.

76854⁄990

9.

2895⁄90

10.
86951⁄9000

Rewrite each infinitely repeating decimal as a rational number (fraction).

1) 0.331

f = 0.331

-

1,000f = 331.31

10f = 003.31

990f = 328

f = 
328⁄990

2) 4.9243

f = 4.9243

-

10,000f = 49243.43

100f = 00492.43

9900f = 48751

f = 
48751⁄9900

3) 1.74595

f = 1.74595

-

100,000f = 174595.95

1,000f = 001745.95

99000f = 172850

f = 
172850⁄99000

4) 2.919

f = 2.919

-

1,000f = 2919.9

100f = 0292.9

900f = 2628

f = 
2628⁄900

5) 0.4727

f = 0.4727

-

10,000f = 4727.27

100f = 0047.27

9900f = 4680

f = 
4680⁄9900

6) 0.24571

f = 0.24571

-

100,000f = 24571.71

1,000f = 00245.71

99000f = 24326

f = 
24326⁄99000

7) 2.669

f = 2.669

-

1,000f = 2669.69

10f = 0026.69

990f = 2643

f = 
2643⁄990

8) 77.630

f = 77.630

-

1,000f = 77630.30

10f = 00776.30

990f = 76854

f = 
76854⁄990

9) 32.16

f = 32.16

-

100f = 3216.6

10f = 0321.6

90f = 2895

f = 
2895⁄90

10) 9.6612

f = 9.6612

-

10,000f = 96612.2

1,000f = 09661.2

9000f = 86951

f = 
86951⁄9000
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